Advanced Algebra
Chapter 1 Test Review

Name

Solve and Graph...don’t use a calculator ®
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b. find hif SA4 = 40 and r = 2 (leave m in your answer)
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You may use a calculator ©

15) The phone company charges $12 per month for a land line. In addition they charge §65 er n@
for all long distance calls. In the month of August your bill was $18.50. -

a) Write an equation or inequality to relate the total cost to the number of long distance minutes
hN = wmainudes

\2—\—.OSW\ = |1g. 50

(m) you used.

b) Find the number of long distance minutes used.
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16) The perimeter of an isosceles triangle is 86 in. Two of the sides of the trlangle are 4 in longer than
the 3 side. Find the length of the sides.

a) Write an equation or inequality to relate the perimeter to the length of the 3 sides using (x) as a
length of the 3" side.
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X S + ¢ = 20b
b) Find the length of all 3 sides.
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17) Kevin needs to run at least 120 miles this week. If Kevin ran 21 miles on Monday and he only has
time to run 4 other days this week, what is the minimum number of miles he must run on each of the

remaining days to attain his goal?
a) Write an equation or inequality to relate the total miles (m) to the required distance that Kevin

wants to run. L >
Wz milec X\ + \M Z 120

b) Find the minimum number of miles Kevin must run on his remaining 4 days.
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